FER/M UG LD

fEC EDEBER(SHT7F£4 81 BRAE)

e
EEEREE RIS & o \ —
R By 1 B S YSRECA) Ba o | el EDRIE
T TE. ROEORE 2.0 =8 NEETT
528 2
3
ST BEONBNIEREDEL AR EET
THIE. REOEOBE 528 :
L
3T TEROREOBE 7 309 |55 T TER
- 28
5 (B) 1
®E (8) 2
47
L%k |REDHFS 68| 44.7 [RE 10{RE#K
T 56
IfE (F) 2
68
5 [ BEREORE 1 138 [BERE M EERER
B3 KEEIsE 1
e B E 1
=£ :
TETE 3
e L
21
5 [BEOBE 39 (=E SBER
BOEKEE :
6
TR [REOHE T3 TRE 2RETR
2
ST BEOBE T 07 [BE e
1
=L 152] 100.0
Bl D EREE T - OB MR O EREIS
TEl L DRI ISEECA)
FE=R 71 4.6
FER 471 30.9
HRER 68| 44.7
FERER 21 13.8
FEM 3.9
RER 2 1.3
BER T 0.7
&85t 152] 100.0

X IRHAEORERLE. BREISDOEEN0% E—BULBRWEELHD KT,




